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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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['ETcl’, "optETcl’], 'LAl', ’optEtRate’]

['T", "Topt’], ['RH', 'RHopt'],

" lopt’ ],
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Plot [['setVl ETcl’, 'setVI fgRec', 'setVI VN,
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-15
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=21t 2646.0 (90%) 1350.0 323 KEC: 2080.0, PH: 6.0

REREIEC (2700.0) HiZEEC (2000.0) REI K, BHEE
FERECE (2700. 0 vs 5035.0) 145



FRV (ml plant-1)

ET (ml/hr/plant)

P3-15_0, Day=44 (2025-05-14)

V1, V¥RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET L 2000

1500
306 - 1500

1124
- 1000

0.2 A - 500
134 00 00

TargetEC=2600. 0,  TargetSetEC=2080. 0

TargetPH=6. 5, TargetSetPH=6.0

h 2000

300 1 BylWoFy @D44 03:08: ET=1124 Fg=1350.0 Ro=183.0 - 1500

200 - 1000

100 - .\-/I\ - 500

|
1.
/

1.0 -~
ol B | W [ B |[Im|m | m | m | m | m | m | ™| m| 6|6 | 6% |6 | 6% |6 6| 6@ @ |m] 6

0.6 1

0.4+

0.2~

0.0
800 {

600

400 -

200 ~

0 \ A A Warhing:,fol

"PPFD_obs’] is missing

25 A

20 -

157 "To_obs'] is missing

80 T

60

—— RH Warning: col ['RH obs’, 'RHo obs’] is miss]

40 -

0.0 0.2 0.4 0.6 0.8 1.0

FRV (ml d-1)

cumET (ml/plant)



hour

2 <

100
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large discrepency for begining water status (334:63.0), set to 334 ml.
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